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#include <iostream>
using namespace std,;
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int main()

{ inti=5;
int j = 15;
int m,n;
floatt = 1.0;
int a[10];
m=i+n; [* 4zit a*/
n=j*Kk; [* &zit b*/
I +] =2z [* &xit ¢ */
a[i] = a[j] - J; [* &cit d*/
aft] =1*j; [* 4xit e */
return O;
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#include <iostream>

using namespace std;

int fact(int n)

{ cout<<"factentry: n="<<n<<endl,
int result = (n <= 1)? 1: fact(n-1) * n
cout <<"factreturn:n="<<n<<" result =" <<result << endl;
return result;
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int main()

{ intr=fact(b);
cout << "Final result of fact(5) =" << r << endl,
return O;
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